1460

AL 2K (mm)

1460

I

THAR ]

N
g O
® S
= i
MB: 1. 1.2mmPERRARAR =I5 A T, g S E T
240 1L UE Smm e 5 SRAL B IS 22
SRR TBE ANFRIATF B
MgE: BAmhE. BFdud. B, BE. Tk, g
o E:
TR RARIE IS 2
EmR WIHB | R B —Ek (5BRIBLAZRFERBIID
HiER= ARITHE HITE A S 2506300013
M 1460*2120 7= B TR HARNTTI]
ook MR
A2
W OB 12T




1480

AL 2K (mm)

] = L]
=
I 1480 |
/< LA
\
I
® 9
o
=
FF: 1. 1.2mmEE AR IR B R mi S, g S HE T
2 A0 3R E 5mm A A AR AL B R 22
S VEL A FIATF 8
PgE: BAm . Bidu. BiE. BF. Tk, Ti5H
E SE
(TR TF AR YE IS &
EmAE WH B | i REESE—ER (5B BABEAFSRIATT)
FiER = A IHE Hi S 2506300015
A% 1480*2140 PR AT
% R
WiAZE 2
H = 1R




1610

A ZK (mm)

| = |
—
! 1610 I
/< TR
’\\
I
(&,
®
=
M s 1.2mmEEEEERR S G A RIS, g E A
200 FE5mm A S R B TS 42
SRR A BRI TF 8
MR BEAmehE. Bk, BiE. LBE. k. TisH
HE:
FTHITF AR IE B &
ERE THAMR | BILRSEMBE ER  comemENZRATD
HiERl=E ATHE HE S 2506300016
A% 1610*1960 e FARTF 1)
% K IR
A%
#H = 1B 5




1460

—h

gy o=

B4 2K (mm)

\\
~——smnn
® S
&= i
MR 1y 1.2mmEBEEARR = IR A i, W S T
240 0 BUZE Smm A 4Rk 3% FE W 22
ST, AN FAIMFB
HERE: HAmhE. Pk, BB, B8, Tk, £isi
o HE:
TR RARTE IS 2
TR TIHAR | il KR —ER (5B B12BHEIHERFAR
HiERl= ARTHE HiiE 8 2506300017
A A 1460*2120 P BT AT
ok R
Wil
H = 1ER TR




